
��������	
��
���	�������	

CAT-SOLAMT10015 

American Modular Tooling, AMT-10015, Fixturing Kit, 378 pieces. List Price $10,177.64 

AMT-10015, Fixturing Kit, 379 pieces, System 25 

Part Nr.Part Nr.Part Nr.Part Nr.    DescriptionDescriptionDescriptionDescription    QtyQtyQtyQty        Part Nr.Part Nr.Part Nr.Part Nr.    DescriptionDescriptionDescriptionDescription    QtyQtyQtyQty    

AMT-11021 Grid plate 25x200x200 2  AMT-15130 Rotary/pivot elmnt 15mm 2 
AMT-11049 Grid plate 25x300x300 1  AMT-15140 Ball joint 15mm 3 
AMT-11505 Off-grid block 4  AMT-15200 Stack Jack® 38-50 M24 10 
AMT-15003 Top elmnt, flat 10x15mm 15  AMT-15201 Stack Jack® 63-75 M24 5 
AMT-15010 Sphere 1/2 10x15mm 18  AMT-16004 Finger clamp 60mm 10 
AMT-15020 Cone 10x15mm 13  AMT-16012 Clamp stud 60mm 10 
AMT-15026 Vee 45° 10x15mm 7  AMT-16020 Stud post holder 15mm 5 
AMT-15030 Vee 60° 10x15mm 2  AMT-17112 Combi Ret bolt 12.5 M6 20 
AMT-15037 Wall 50% 10x15mm 14  AMT-17120 Nut, single M6 20 
AMT-15041 Wall 75% 10x15mm 7  AMT-17133 Lock for ret bolt 25mm 20 
AMT-15047 Indicator holder .375” 3  AMT-17147 End cap 25x25mm 40 
AMT-15050 Indicator holder M8 3  AMT-17171 Disc cntr 24mmx12.5 M6 20 
AMT-15057 Magnet 10x15mm 5  AMT-17173 Disc noncntr 30 M6 20 
AMT-15064 Riser 20x15mm M8 20  AMT-19206 25x50x50mm Hollow  4 
AMT-15065 Riser 25x15mm M8 20  AMT-19207 25x50x75mm Hollow  4 
AMT-15075 Riser 20x15mm M6xM8 5  AMT-19208 25x50x100mm Hollow  4 
AMT-15077 Base M24 30x20x15mm 20  AMT-19209 25x50x125mm Hollow  4 
AMT-15105 Spring element 15mm 2  AMT-19214 25x50x250mm Hollow  4 
AMT-15120 Rotary element 15mm 6  AMT-10048 Storage cabinet 1 
AMT-15125 Pivot element 15mm 4     

 Paul W. Marino Gages, Inc.      21300 MacArthur Blvd.       Warren, Michigan       48089-3020       Phone 586-759-2400       Fax 586-759-2423        E-mail pwminc@covad.net 

FOR YOUR QUALITY DEPARTMENT www.pmargage.com 800-528-9785 

SOLUTIONS © 

AMT Fixturing Kits feature: 

Å Material 7075-T6 aluminum 
components 

Å 0.002mm (0.0008”) accuracy of 
flat, square, parallel, hole size 
and hole location. 

Å Components can be used 
across system sizes 25 and 40 

���������	�


�

����
��������
�


